javaScript



Task 1:

Qnb| Gptp hnthnfuwywuh $nLuyghw, npp hwpdned
E wnwghUhg UG6 U Gpupnpnhg thnpp pninp pUGRH
pwnwynruputnph gnudwpp, npnup s6U pwdwuyned

Gpnpnpnh Ypuwi:



Task 2:

Fwntphg Juwgqdywéd qulugwdhg unnwlw
Lwfuwnwuntpjntly, npp swywpnLtbwyh “d”,
“k” U “o” lnwntnpp wwpnLtbwynn pwnbpp:



Task 3:

Qnt| Gpunt wwpwdGunp nctugnn $nLulighw:
Unwehlt wwpwdGunpp punncunwd E string tnhwh
wnatpubpn, huy Gpypnpnp array inhwh wpatpubn:
dniyghwyp dhgngn  wwnpgbp  array-p
wwnpnruwynwd £ wyn pwnp, pG ng U yGpwnwpaubi
wjn ywd ng:



Task 4:

* NLutup Gpynt select: Unwehuh tnwpptpwlbubnu
GU [wjwunwl,Mneuwunnwt b Ypwuwnwl, hul
GpUpnpnp ntlh 4 nuinwpy - lwpptpwy:
Jnwehuntid  npuE  wwppGpwly  puwnpGihu,
spypnpnned . hwynud6t wywy Gpuph 4
pwnuwpubn:




